25.01.21
Maths – Today have a go at the questions below to keep our multiplication and division skills fresh in our minds. Answers are at the bottom so no peaking.

To warm up have a go at making as many ways to make 32 by adding 3 numbers together. You may only use the numbers from the box below. Use can only use them once per calculation. 

	18
	15
	8
	20

	32
	5
	3
	14

	17
	15
	6
	9

	7
	16
	19
	21



How many groups can you find in 5 minutes?
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CHALLENGE QUESTIONS
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ANSWERS
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@ 4 jocket costs £

Six jockets and four pairs of shoes cost £362

How much does a pair of shoes cost?

o Some cards are shared between 8 boxes.
There are 57 cards in each box and 3 left over

How many cards were shared?

@ Work out 20 x 49 x 5

Explain or show your method.
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O 5x3-63

6l5 + 3 = 205
146l x 6 = 8,766
846 + 5 =169 rl

26
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400 + 240 + 30 + 18 = 688
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4 120 24

300 + 120 + 60 + 24 = 504
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2,028 chairs

Annie: 17,862
Mo: Any combination where the last digit of one of
the numbers is a 4 and the last digit of the other

number is a 5

£26

459 cards

4,900
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0 Work out the calculations.
23l x 3

6l5 + 3

IHel x 6

846 + 5
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o Complete the calculation.

o Jack is thinking of a number.

When I multiply
my number by 9,
I get 234

What is Jack’s number?
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o Complete the grid for the multiplication 43 x 16
40 3

10

Use a grid to work out 36 x 1

e In a theatre there are 52 rows of chairs.
There are 39 chairs in each row.

How many chairs are there altogether?
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o Annie and Mo each arrange five digit cards to make
a 3-digit and a 2-digit number.

They then multiply their numbers together.

) ) ) G

Here is Annie’s arrangement.

0080

What is her answer?

Mo’s answer ends in a zero.

What could his numbers be?
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